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OrpaHn4eHuns B obnactu onpeneneHuns:

1. 3HameHaTensb.

P(x). .
Q(x)’ Qlx)# 0,

2. KopeHb YeTHOW CTENEHMW.

JP(x); Px)=0

3. TaHreHc, KoTaHreHc.

tgx; cosx # 0;
ctgx; sinx # 0;
4. Jlorapmndm.

log,b; b>0;, a>0, a#1
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OTMEeTUTb Ha
TPUTOHOMETPUNYECKOU
OKPY>XHOCTU obnacTn,

COOTBETCTBYIOLLME YCITOBUAM:




OTMEeTUTb Ha
TPUTOHOMETPUNYECKOU
OKPY>XHOCTU obnacTu,

COOTBETCGTBYOLLME YCITOBUAM:
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OTMeTnTb Ha
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OTMEeTUTb Ha
TPUTOHOMETPUNYECKOU
OKPY>XHOCTW TOYKMN,
COOTBeTrj:rByrou_me YCINOBUAM:




PelnTte ypaBHeHMeE: Ay

OTtBeT: T + 271n,
ne/



PellnTte ypaBHeHuKeE:
sinx + sin3x 0

1 — cos2x
sin2x = 0,
cos(—x) =0 7+ 2n

cos2x + 1;
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PelnTte ypaBHeHMeE: y
cos2x + /2 cosx + 1 B 37T+ ZJ

O'_ n JIA
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. cosx 0
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PelnTte ypaBHeHMeE: Ay

2sin‘x + 3sinx + 1

)

\/ —CoSXx

sinx = —1,
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PelnTte ypaBHeHMeE: Ay

tg3x — tgx ST
J : J = 0; - 21T T
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CamocTtositenbHas paborta:
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2.X=——+4 21n







4. x

X =1 + 21nn.
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7.Xx = arcsin— + 2nn
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8. X = —arcsin; + 271n.
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